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Section A (30 x 2 marks = 60 marks) :
For each question from 1 to 30, four options are gaven One of them is the comrect

answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
'Optical Answer Sheet provided

1. Study the following classification table carefully. .

A B
Cotton towel Bicycle
Plastic box Watch
Paper bag Umbrella

Which one the following pairs of items matches Group A and Group B

respectively.

Group A : Group B
® Metal spoon Television
(V) Hammer Clay pot
)] Plastic watering can Handkerchief
(7)) Porcelain vase Paper carton
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2. Which one of the following objects is made from material that was once alive?

O

~Rubber ball Wooden chair

Hastic

-3, __AT_h'e'.young of Animal X lives in the water but its adutt lives on land. Which of the
following animals fit the same description as Animal X?

A Toad

B. Platypus

C. Mosquito

D. Dragonfly
A, B and C only A, C and D only
B, C and D only A, B and D only
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Which one of the following; living things can be classified under Group B?

Q)
Q

Living Things
1
P - |
Group A Group B
Mimosa plant Deer
Orchid Elephant

Crass ?@ Cactus
Toadstool (d  Coconutires

5. Which one of the following statements is true of Plant A and Plant B?

SYOT

Plant A Plant B

Plant A can grow faster than Plant B.
Piant A has more nutrients than Piant B.
Plant A has a weak stem but not Plant B.
Plant A needs more sunlight than Plant B.
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6 . After observing an animat carefully, Pafricia wrote down her observations.

Animal Y - |
0] it breathes through gills.

(i) It moves abotr by swimming
(i)  Its body is covered with scales -

Which one of the following animals is Animal Y likely to be?
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Which of the following statement(s) is/are true of both birds and insects?

(A} Allinsects and birds can fly.

(B) Both insects and birds lay eggs.

(C) Both insects and birds have three body parts ~

(D) Allinsects and birds have the same number of stages
in their Iife cycles

A only @ C and D only
B only B and D only

8. Study the Venn diagram below.

Made of
metal

ade of plastic
What can object “X” be i1 the above Venn diagram?
1) Pillow 2) Cushion
Frying pan - 4) Tennis ball
9. Which of the following properties of metal make it suitable for making gates?
A : strong
- B . waterproof

C: {fransparent
D: good conductor of heat

@ AandBonly . @) BandConly
@Y A BandDonly A, C and D only
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10.  Which one of the following is a form of matter?

(3) Sound Smoke

~

(1) Heat % Light

11, Which of the following statements do not describe matter?

{A) It has mass

(B) it occupies space

(C) It has a definite shape
(D) It has a definite volume

{1) AandBonly 2 CandDonly
@Y Aand D only 8 and C only

-12. Which one of the following groups of matter consists of a solid, a liquid ana a
gas? -

@ flour, rain, nitrogen @ penguin, wire, electricity
@)  wilk, juice, oxygen . (@)  helium, steam, wine

13. A teacher left 150ml of tap water in a beaker on the table in the classroom.
After twa days he found that the amount of water left was likely to be

@  120mi @  1s0mi
@y 165ml - @ 180ml

14. Our skin feels more damp and stickier in the forest than in the desert

because the in the forest is higher than that of the desert.
~ humidity (2 pressure
) temperature @¥ rate of evaporafion
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15. When matter changes from one state to another,
in or given off.

air
heat

@ gas

@) water

16. Which of the following cannot exist at a temperature below 100 °C?

lce
Steam

17.Four syringes P.Q';:R,S each containing two substances. The diagram below
shows one of the syringes. Each syringe contained 10c® of each substance

making a totai volume of 20cm?.

The table befow shows the

stopper

pushed until it cannot be pushed further.

@  Water
Water vapour

plunger

equal volume of two substances

final volume for each syringe when the plunger is

Total volume before Total volume after
Syringes plunger is pushed (cm’) | Plunger is pushed (cm?)
P 20 20
Q 20 10 -
R 20 20
S 20 L ]

Which syringes could have contained a solid and a liquid?

P and R only
(3)Q and R only

(2»Q and S only
(® P and S only
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18. Which one of the following changes takes place when a candle is lit?

{1y |Liquid > Solid - Gas

(@ |Liguid » Gas = Liquid

Solid <> Liquid -» Gas .

@) | Solid -> Gas > Liquid

18. Tom puts a bar magnet into a beaker of water that is filled to the bim. He then
notices that water flows out from the beaker.

Beaker Water
Which of the following statements explain why the water flows out of the beaker?
{A) The magnet has a definite shape. -
(B) The magnet has a definite volume ¥ T
(C) The magnet occupies, space in the beakery™
(D) The magnet is heavier than water.

(A» AandBonly _ B and C only
(3B) CandDonly - A and D only

20. A block of ice was placed on the Qround. After some time a puddle of
water could be seen where the block of ice was.
What had happened to the block of ice?

(A) 1t had taken in heat

(B) It had given out heat.
(C) 1 hod changed in state.

ay A only % A and C only
3) C only _ Band Conly
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21. The diagram below shows four processes A, B, C and D involved in the
change of the states of water.

B A

 J
 /

N Solid ' Liquid Gas

A
A

Cc D
Which one of the following option below correctly matches the 4 processes?

Processes A B C D

(@)1 Melting Condensation | Freezing Evaporation
@ Condensationy| Freezing Melting Evaporation
€))] Meiting Evaporation | Condensation Freezing

@) Evaporation Melting _Freezing | Condensation

22.  Study the line graph shown below.

Time Taken (hour)

~Halim plotted the above line graph to show the change in temperature wrthm
" an hour after he had carried out one of the following activities.
Which one of the following was the most likely activity?

He left a pot of hot plain porridge to cool.
Halim left a tray of tap water in the freezer.

A pot of vegetable soup being heated up by Halim.

A frozen chicken was taken out from the freeze by Halim.
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23. Hsu Wel had a cup of water with the mass of 40g. He then added 2g of

sand and 1g of sugar into the cup of water and stirred till all the sugar
had dissolved. What was the total mass of the cup of water and the
substances in it after all the sugar had dissolved?

(3 40g @419

3) 429 @439

of simitar volume

24. Four cubes A, B, C and D, are dropped into a container of water. Awang& H’g
cubes according to mass from the biggest to the smaliest.

C,D,AandB

A, B, Cand D @B, A Dand G
@D
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25. Mrs Gupta set up the experiment as showri in the diagram.
When she poured tap water into the funnel, she noticed that it stopped
flowing into the flask after a short while. '

~ LN

funne water

stopper

flask

What should she do to enable all the water in the funnel to flow into the flask?

X3) Loosen the rubber stopper.

(2) Pour hot water intothe funnet.

) Put the flask in a basin of cool water.

@) Pour the tap water into the funnel quickly.

26. The substance squeezed from the tube shown below has

@ mass and a definite shape.
% no mass but has definite volume.

3) a definite shape but no definite volume.
@ no definite shape and no definite volume
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27.  Which one of the following statements correctly shows the difference between a
gas and a solid?

(1) A gas has no mass but a solid has mass.
(2) A gas does not occupy space but a solid occupies space.
A gas has no defmite shape but a solid has a definite shape,

(4) A gas has ge definite volume but a solid has 1 definite volume.
o

-

28. Alison fills 4 different glass vessels W, X, Y and Z with an equal volume of
water as shown the diagram below. She places the vessels side by side under
the sun in the field.

After a few hours, which one of the glass vessels contains the Iangesi amount of

water.
B @:
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29. Hassim has 120ml of oxygen gas in atank. He wants to transfer all the oxygen
in the tank into another container. Which of the following container(s) A, B and
C would be able to hold the 120ml of oxygen?

TN

O . N

N
~
A B C
Volume: 100mi Volume: 120ml Volume; 140ml
(1A only (2B and C only
(3B only @ A,Band C

30. Mr. Lim completely filled 100cm® measuring cylinder with water. He completely
filled up another 100cm?® cylinder with small marbles. Next, he transferred alt
the water and marbles into a 250cm® measuring cylinder.

100cm’cylinder 100cny cylinder ~ 250cm®cylinder
filled with water filled with marbles

The volume occupied by the water and marbles in the 250cm® cylinder is likely to
be .

@ 100cny {2) more than 200cm?

@ 200cm?® @between 100cm and 200cm’
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Name : . r ) Date:

Class :Primary4 ( - )

Section B (40 marks)

Write your answers to questions 31 to 46 in the spaces provided.
Marks will be deducted for misspelt key words.

31. The diagram below shows a container which was filled with stones and water.

ater

stones

a.  Name the states of matter found in the container. (1 mark)

b.  If all the water was poured away and only the stones were left behind in the

comainer. Name the states of matter left in the container now. (1mark)
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32. A kettle of water was boiling on the kitchen stove as shown in the diagram

above. Sam and his mother commented on the following observations.

Sam: Mom, | can see the steamn comingout of the kettle! -
It is white in colour.

Mother: Thatis not steam,; Sam.

a. Give the reason why Mother made that statement? (1mark)

b. Explain how the “clouds” that Sam saw was formed. (2marks)
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33. Allen set up an experiment as shown in the diagram befow.

metal == Z - ——————C
lid S niadies it

Hot water

He placed a metal lid over the container of hot water.: A few ice cubes were
placed on top of the metal lid. After a while he noticed that some. water droplets
were formed.

a. Draw the water droplets that Allen noticed in the above diagram.  (1mark)

b- Allen then used the same set-up but he added 6 tablespoons of salt on the ice -

cubes and he noticed that the water droplets were formed faster in the same
amount of time.

Explain why the water droplets were formed faster? (Zmarks) -
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34, Keith took a cube of ice #stmimg from his freezer. He then noticed that there
were little “lines” inside 1it.

a. What are those “lines” inside the ice cube? (1mark)

b. How are the “lines” forrmed? (1mark)

35. Bala was told to carry out an experiment to show that there is air in the soil. He
was given a pot of soil and a tank of water as shown below.

Pot of soil Tank filled with water

a. Using what he was given how would he show that soil contains air?  (1mark)

b. What would he observe that shows that there is air in the soil? (1mark)




36. The diagram befow shows the behaviour of substance P in a bottle, The bottle is
then placed in different positions. '

- FrI—— ~

Substance P

‘substance P are “True” “False” or “Not Possible to Tell” by putting a tick ( v ) in the
appropriate box.
(Bmarks)

Statements True False | Not Possible To Tell |

i) P is a gas

ii) P is vinegar

tii) P has no definite volume

37. Study the diagram below

— . e ——m = —_ -

Desmond inverted an empty glass into a basin of water. He noticed that the
water did not enter the glass. )

a. Explain why the water did not flow into the glass. (1 mark)

b. Keeping the glass below the water., hiow would he get the water into the glass? (1m)
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39

Fill in each blank with the correct word. . {2marks)

Water boils at % C but it can evaporate at any
temperature. The __ - and
points of water are at the same temperature which is °C.

Larry was studying the frogs that lived in a pond. He drew the bar graph
shown below to show the number of frogs found in the pond every month for

six months.
A

Number of Frogs

\ 4

Jan Feb Mar Apr May Jun

(@) The number of frogs increased from January to March.
Give one possible'feasonfor the increase. (1 mark)

(b) From the end of March to June, the number of frogs decreased.
Give one possible reason for the decrease. (1 mark)
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40. The diagram below shows a wall clock with a cover made of material Z. _

cover

a. " Suggest a material that Z could be.
(1mark)

b. Name one property of material Z that makes it suitable for its use. (1 mark)
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41. The diagram below shows an experiment that David conducted.

Water collected Beaker

He tied a piece of material R over the mouth of a beaker bafore pouring 10ml of water
onto the material.  After 5 minutes, he carefully removed the material and measured
the volume, of water collected in the beaker. He repeated the experiment with 2
other pieces of materials S and T and recorded his results in the table below.

Material Amount of Water Collected
R 9
S 6
T i
a)- Which materjdl is wost suitable for fnaking raincoat? (1 mark)
b) Explain your choice for (a). (1 mark)
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42. Twojars, A and B, each contains a hamster, a dish of food and a dish of water.
A piece of wire gauze is wrapped over the mouth of Jar A. - The mouth of Jar
B is covered with a piece of cardboard.  The hamsters are provided with a
2-week supply of food and water.

wire gauze cardboard

hamsters

food water

(a) What will happen to both the hamsters after two days? (2 marks)

(b) What does the above experiment show? (2marks)
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43. a) Classify the plants in the box below into tand and water plants.

(2marks)
Cattail Hydrilla .
Hibiscus Bougainvilpa
Land Plants Water Plants

b)  The diagram below shows the roots of two plénts.

State one siimiar ﬁ‘lpcﬁon 9.‘;f the roots of both plants.

(1mark)
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44.a) Study the diagram below carefully.

Three objects of different volumes were put into a beaker containing 30cm’

water and the final water level in &ach case was shown above. .
Arrange the objects according to their volumes from the smallest to the
greatest by drawing the correct objects in the spaces below. (2marks)

b. The diagram below shows a tilted can of water.

Complete the diagram by drawing the water level in the can. (1 mark)
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45.1000cm? of air ts drawn out from a hole on the cover of an 800cm’ glass
cylinder. The hole was immediately sealed after the air was drawn out.

» 1000cm’ of air drawn out

a. Whatis the volume of air lﬂ the glass cylmder after 1000cm? of air has been

grawn out? . . (1mark)
b. What properties of air is shown in the above experiment? (1mark)
70
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48. Three wet towels P, Q and R of the same material and size were hung
to dry in the sun. Towel P was fully opened, towel Q was folded once
and towel R was folded twice as shown in the diagram below.

' P

a, Towel dried the slowest because

(2marks)
b. State another condition that could have helped to dry the three towels
faster. (tmark)
\
End of paper

Please check your papers
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1.1

2. 4 d gas.

3. 2 \@‘Q\.;\.

4. 32ya)Steam 1is invisiBre._

&%) The water in the kettle before
,_égéw%gﬁyrg*‘°1led has tiny

Those ‘lines’ inside the ice
are air bubbles.

b)yThe aixr bubbles are trapped
within the ice cubes during
freezing.
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35)a) He can pot of soil in to the tank

filled w1th

.the

TN
w1ll be alfﬁbﬁﬁe% s coming out of the
"Bfe'}\-‘ 9

-.,_4' -\_)Q

lh '

YNot ~ iii)False

, biscus, Bougainvillea
Watery WS : Hydrilla, Catteail

45)a) 800cm3 b)RAir has no definite volume.

46)Ya) Towel R dried the slowest because if was
smallest exposed surface area.
b) Low humidity.





